	Prénom : ......................................
	Date : .............................................................................


	[image: image1.wmf](10) 
	100 – 95 = 5

200 – 195 = 5

300 – 295 = 5
	100 – 50 = 50

300 – 250 = 50

500 – 450 = 50
	1 000 – 500 = 500

4 000 – 3 500 = 500

7 000 – 6 500 = 500


· Calcule et effectue les preuves :

	715 61014

-  1   81415 9
6 7 1 4 5

	(
	16 7 114 5
+    8 4 5 9
7 5 6 0 4
	
	810101011

-  12141618 2
5 5 3 1 9
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	11510131014

- 1 17111915 9
7 8 3 4 5
	(
	17181314 5
+  7 1 9 5 9
1 5 0 3 0 4
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-  114181910 7
1 0 1 0 9 3
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	910 9 910 9

- 1  9 010 9 0
8 1 9 8 1 9
	(
	18 1 918 1 9
+   9 0 0 9 0
9 0 9 9 0 9
	
	91112131415

- 1112131415 9
7 8 8 8 8 6
	(
	1718181818 6
+ 1 2 3 4 5 9
9 1 2 3 4 5
	


· Observe et complète les suites de nombres :

	►
	75 000
	74 900
	74 800
	74 700
	74 600
	74 500
	74 400
	74 300


	►
	81 342
	81 242
	81 142
	81 042
	80 942
	80 842
	80 742
	80 642


	►
	202 000
	201 500
	201 000
	200 500
	200 000
	199 500
	199 000
	198 500


	►
	267 495
	267 995
	266 495
	266 495
	265 995
	265 495
	264 995
	264 495


	►
	485 260
	484 260
	483 260
	482 260
	481 260
	480 260
	479 260
	478 260


	►
	999 909
	989 909
	979 909
	969 909
	959 909
	949 909
	939 909
	929 909


	►
	888 888
	878 878
	868 868
	858 858
	848 848
	838 838
	828 828
	818 818


· Complète :


	
	- 10
	- 5
	- 100
	- 20
	- 50
	- 25
	- 200
	

	1 000


	990
	985
	885
	865
	815
	790
	590

	
	
	
	
	
	
	
	

	2 500
	2 490
	2 485
	2 385
	2 365
	2 315
	2 290
	2 090

	
	
	
	
	
	
	
	

	10 000
	9 990
	9 985
	9 885
	9 865
	9 815
	9 790
	9 590

	
	
	
	
	
	
	
	

	50 153
	50 143
	50 138
	50 038
	50 018
	49 968
	49 943
	49 743

	
	
	
	
	
	
	
	


